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Addition

EYFS/Year 1

Combining two parts
to make a whole: part
whale model

Starting at the bigger
nurmber and counting
on- using cubes.

Regrouping to make
10 using ten frame.

Year 2

Adding three single
digits.

Use of base 10 to
combine two
numbers,

Year 3
Calurrin method-
regrauping,

Using place value
counters
(up to 3 digits).

Year 4

Column method-
regrouping.

(up to 4 digits)

Year 5
Colurmn method-
regrouping

Use of place value
counters for
adding decimals.

Year 6

Colurn method-
Fegrouping,

Abstract methods.

Place value counters
to be used for
adding decimal
nummbers.




Objective & Strategy Concrete Pictorial Abstract
Combining two f 3 $
parts to make a ‘ N - 4+3=7 __[;'
whole: part- whaole ’ “"ﬂ"\\a % -
model Use part part whole model. 4
Use cubes to add two num- I ' Use pictures to Use the part-part
bers togather 25 3 group or ...[.'. add two num- 10=6+4 whole diagram as
in a bar. - 10 bers together shown above to move
35 3 Eroup or in into the abstract.
GRS DTS pere
Starting at the big- . 12 +5=17 5+12=17
ger number and P fbbd—bt—j—— | Place the larzer number in your head and
. 10 11 12 13 4 15 16 17 18 1@ 20
counting on = count on the smaller number to find your
Sri_rtwnh the larger number on the bead 2t the | number on the number o
string and then count on to the smaller num- | jine and count on in ones orin one jump to
ber 1 by 1 to find the answer. find the answer.
REegrouping to make 6+5=11 T+4=11
10.
Thiz is an assential skill for 3+ 9= If | am at seven, how many more do | need to
column oddition katar. start with the
o ! ozar number Use picturas or a number line. Regroup or mzke 10. How many more do | add on now?
i the partiticn the smaller number using the part
AndusE part whale model to make 10
smaller number
to make 10 g+_51=14 "
' Use ten frames. (] [4) -l

Represent & use
mumber bonds and
related subtraction
facts within 20

2 more than 5.

Emphasis should be on the language
‘1 mave than 5 is equal to &7

2movethan 5is 7'

‘8 is 3 movre than 5.°

PPV =



Objective & Concrete Pictorial Abstract
Strategy
Adding multiples of 0=30=20 BE Bk H R |20+ 30=50
ten S ‘ il | |
. ' | i i;; H | i 70=50+20
-] i + & bane - kane q’ﬂ‘l‘ﬂ =ED
o . 04+ 50 =
Model using dienes and bead strings Use representations for base ten.
Use known number -

Children ex- 1=16 16-1=
facts /1 plore ways of :D |:|+ |:|
part part whole 2.0 mahing_nl_ml- D 1 |-|:|= 18 16 = |:|=1

\ bers within 20 |:|+|:|=2-|} E'D_|_.=|_.
(J+[=20 20-[]=[]
Using known facts DDEI + DDEI I:IDI:I I:lnu T4 o= 3+4=7
i“ + Hl — IH““ leqds ta
* EE . EE -—@mm WA=
| EE EEm
am feads to
Children draw representations of H, T and O 300 + 400 = 700
Bar model

000 eeee@

3+4=7

HTHHARE

7+3=10

\ 2 | 5 ‘

()

23+25=48




Objective & Concrete Pictorial Abstract
Strategy
Add a two digit r + 17 +5=22
,[‘:LLL 17+5=22 I.I:aepart 17+5=22
number and ones oo \
: '1:'__"1 1 Use ten frame to
:EE DU make ‘magic ten :l:: :Jumber Explore related facts
Hgi 17+5=22
| “ * :r . S5+17=22
Children explore the pattern. 13_17=5% =
17+5=22 @ : t : 7 3
A8 20 23 |22—-5=17
27+5=32
Add a 2 digit num- 27 + 30 27 +10=37
g
ber and tens .. 10 +]0 +]0 27 +20=47
' | 27+0=57
| .
25+ 10 =35 : : : :
Explore that the ones digit does not change \ 27 37 47 57
Add two 2-digit Y I5+4
numbers // ag +20 e & 0 == 20 +£ Ed-ﬂ +
" (5 | - e = ] =, 3 fa
oo :‘.’ \:: .:5 T x;; 0 ?j'.: 20 +40=60
FADOS! USINE QIENES | (ISCE VaIUe COUNTErs use number line and bridge ten using part 5+ 7 =12
and numicon whole if necessary. 60+12=72
Add three 1-digit 447 +6)= [10/+[7]
numbers + +
s g 10

.ﬁ‘ Vo O

Combine to make 10 first if possible, or
bridge 1o then add third digit

Regroup and draw representation.

¢ 2l

= [17]

Combine the two numbers that make/
bridze ten then add on the third.

HPPY S



Objective & Concrete Pictorial Abstract
Strategy

Column Addition—no T ©  Modelusing Children move to drawing the counters using
regrouping {friendly I | e ewe mjermur nu- 2 tens and one frame. 2 2 3
numbers] (mmannmaanfll ] T

Add together the ones first, then the
addtuoar three20r>- |t TR t114

- - tens ones
digit numbers. 4% E@E E Eﬂ
U omem 337
¥ O ..
— o %
e ® | Add the ones first, then the tens, then
e | | | s the hundreds.
lolalaloml 1 1 2 i”*“‘
o |eeeee ':
Pdove to using place valua ::uulnters
Column Addm with a0 ® ® children can draw a rep- 2[} + _5
Tegrouping. * E % E @ ° ® % ocentation of the grid to 10 + 8
! | further support their
15 E ) ﬁ] . ® -. understanding, carrying G[} + 13 = ?3
= % 4 '.-l. the ten underneath the
® 7 line o
Exchange ten ones for a ten. Modeal Start by partitioning
using numicon and py counters. 1 the numbers before

[

formal column to

3
show the exchange. —I_ 8

1}PPY S



Objective &

Strategy

Concrete

Ya4—add numbers with
up to 4 digits

Zhedich COnmRUE To W5e GRS 0y
counters to add, exchanging ten ones for
a ten and ten tens for a hundred and ten
hundreds for a thowsand.

Hasdreds Ters s

Pictorial
e E': l.- : :
o0 g8 = |(®0
ee .! p . ::
7 1 5 1
L] L]

Draw representations using pv grid.

Y5—add numbers with | As year 4 23T +B1T78
more than 4 digits.
tensl omes 4 tznths | hundradths
) : L
Add decimals with 2 dec- ®
imal placas, including
’ Introduce decimal place value counters
and model exchange for addition.
Ye—add several num- AsSYS A5 Y5

bers of iIncreasing com-

plexity

Including adding money,
meazure and decimals
with different numbers
of decimal points.

Abstract

Confinue from previous work to carmy
hundreds as well as tens.

—-_..|U'!LF|'|I
S LE

.P
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Taking away ones
Counting back
Find the difference
Part whole model

Make 10 using the
ten frame

Counting back
Find the difference
Part whale model
Make 10

Use of base 10

Colurnn rrethod
with regrouping.

(up to 3 digits
using place value
counters)

Column method with
regrouping.

(up to 4 digits)

Colurmn method
with regrouping

Abstract for whole
nrnbers.

Start with place
value counters for
decimals- with the
sarme amount of
decimal places.

Column methad
with regrouping.

Abstract methads.

Place value counters
for decimals- with
differant amounts of
decimal places.




Objective & Concrete Pictorial Abstract
Strategy
Taking away Use phiysical objects, counters , cubes etc ; " § . .
- | A A Fa
ones. to show how objects can be taken away. TAYWAVA . / 7—4=13
YY) VA
S— = |'r \'._. .11._. h : -
f—4 =2 Sl y fa T‘é
.'. . » TAWAYAWLY Pl
M“ 15-3 = ‘|E| 16—9=7
]
A4—2=32 A Cross out drawn objects to show what has
besn taken away.
Counting back Put 13 in your head, count back 4. What mumbser
-Lgg-Ligp = are you at?
IV W22 = "
-ttt
Kowe objects away from the group, 1 a2 4 &« 8 & 7 8 # 10
counting backwards.
Muowe the beads
along the bead Count back in ones using a number lina.
reeraere ~ string as you count
[gpeennnee ®  Dackwards.
Find the Compare objects and amounts Hannah has12 sweets and her sister has 5. How
Count on using 3 number line to find the many more does Hannah have than her sister.?
Difference difference.

m 7 ‘Seven iz 2 mare than four
O 4

‘T e 2 wears clder than my

sister’
3 Paihi

rirdrd

r
Lay ohjects to represent bar model.

- U0RORIGNG <



Objective &

Strategy

Concrete

Pictorial

Abstract

Represent and use
number bonds and
related subtraction
facts within 20

Part Fart Whale
maodel

.
N

o

k

Link to addition. Use

r‘ T PP model to model

the inverse.

If 10 is the whole and 6 is one of the arts,

Ze
58—

7

Move to using numbers within
the part whole model.

what s the other part?
A
10—6=4 Use pictorial representations to show the part.
Make 10 14—9 13—7 16—8
13-7=|6]| -
m ' - % (1) How many do we take off first to get to
T T L B T e I e ST B
= B S : 107 How many left to take off?
% Lol | i M |_.__. Jump back 3 first, then another 4. Use ten
as the stopping point.
hake 14 on the ten frame. Take 4 away
to make ten, then take one more away so
that you have taken 5.
Bar model

QO

00

00O

5—2=3

HEHEREERRE

10=8+2
10=2+8
10—2=8
10—8=2

- UOIJIRIYNG <
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Objective & Strategy Concrete Pictorial Abstract
Regroup a ten into :
£ 5
fen ones w . F . .
* 1 . % S
EEES S 20—4 =16
=20 — <A1 —

Use 3 PV chart to show how to change a

ten into ten cnes, use the term ‘take and

make'
Partitioning to sub- 34—13=71 e wa Children draw representations of Dienes and

T =

tract without re- | 8, | |crOssoff
Erouping. 43—21=22
Friendly numbars" | = | _; D ﬁ

Use Dienes to — " 0

show how to par-

tition the nurmber

when subtracting =

without regroup- | S = 43—-21=22

. i

ing.
Make ten strategy i »
Frograssion should ba PR . i :
Crossing one tan, crossing ¢ —F —— r e L a3 93—76=17

Q 25 =5 34 counting on i find ‘differene
mora thon ona fan, oross-
ing the hundreds. 34—28 :
Use a number line to count on to next ten
Use 3 bead bar or bead strings to model and thien the rest.
counting to next ten and the rest.

- HOIJIRAYNG =<
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Objective & Concrete Pictorial Abstract
Strategy
Column subtraction & _ .
without regroupin : T ey S A 4 7-1,=23
grouping vi t 4?—32 D (BER W :5&5- -
(friendly numbers) F S =7 ok k
T :_fl 2oL 3
ey ~FEEEEFEERTY 5 —_——
1B , Intermediate step may
11 Darw rapresentations to support under- be needed to lead to 79
'8 standing clear subtraction under- "'JI
Use base 10 or Numicon to model standing. |
LU
Column subtraction 6-254" 582

with regrouping

T
=
i

Begin with base 10 or Numicon. Move to
pv counters, madelling the exchange of a
ten into tten ones. Use the phrase ‘take
and make’ for exchange.

Children may draw base ten or PV counters
and cross off.

Begin by parti-
| tioning into pv
columns

F928-582-06 ] thenmoveto

H T L]
‘g 3 formal method.
b T
=

- UOIJIRAYNG =5
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Objective & Concrete Pictorial Abstract
Strategy

Subtracting tens 234 - 179 children to draw pv counters and show their
and ones exchange—see ¥3 L i
Year 4 subtract with E}B E{?@ ..:. 2 : b S- Ll—
up to 4 digits. @@ — l 5 o 2
Introduce decimal subtrac- I:E] @E} ... I l q 2
ton throwgh context of E2EE2E (D@
monay | = . . .

mModel process of exchange using Mumi-

con, base ten and then mowve to PV coun-

Use the phrase ‘take and make’ for ex-
change

ters.
Year 5 Subtract A5 Year 4 children to draw pv counters and show their B 10 e (o Ry
with at least 4 dig- exchange—see ¥3 _ 4 "{ ? ’g %
its, including money
and measures. 2 g"q 2.8
Subtract with decimal Use zeros o i
b I f

volues, including mixtures fnrp|a|:E_ ﬂ/’( E' ﬂ/ ) G
of integers and decimals —_ s
and aligning tha decima! halders. G F:i';, ; % . ‘?__}
Year 6—Subtract *X"B’Ja 6 a9
with increasingly - 2 ul: q U r,]
large and more G 0 ‘_.-" 5 0
complex numbers y
and decimal values.

YIS kN

E l'I-'I ) 3 3 q‘_!‘.q

- UOIJIBAING :
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Objective & Concrete Pictorial Abstract
Strategy
Doubling Use practical activities using manip- | Draw pictures to show how to double numbers | Partition a number and then double each part

ultives including cubes and Numicon
to demonstrate doubling

1
;

4% 18 + =E

double 4 8

Double 4 is 8

before recombining it back together.
16
VAN
10 b
I xd I ¥

20 + 12 =32

Counting in multi-
ples

Count the groups as children are skip
counting, children may use their fin-
gers as they are skip counting.

|

Children make representations to show

counting in multiples.

-ﬂi\-i e '\--'_}"\-\.\_ Ce - Y

il B0 Ol@ BT B I ﬂﬂﬂf}m:jc:-.-q
I b g o o e ¥ zp

Count in multiples of a number aloud.

Write sequences with mukltples of num-
bers.

2,4 6, 8,10

5, 10, 15, 20, 25, 30

Mzking equal
groups and
counting the total

"
e[

Use manipulatives to create equal groups.

-8

Draw @{l nshow2x3 =6

Draw and make representations

2xd=8

X uoealjdniny =<



Objective & Concrete Pictorial Abstract
Strategy
Repeated addition Use pictorial including number lines to sobwe write addition sentences to describe objects
I l 'r'\ prob There are 3 sweets in one bag. and pictures.
' Haw marry sweets are in 5 bags

3‘31'_,

£4F

Use different objects to add
equal groups

nl*rngzthgr‘?

A+3+3+3+3
* . (® el
L] - '-'_
* ® a2} ([* &)
- - -
- - i . i s
# v - il ﬂ"'-. .
L} L] L]

$4433

2¥d+d+d+2=10

NN =

Understanding ar-
rays

Use objects laid out in arrays to find the an-
swers to 2 lots 5, 3 lots of 2 etc.

Draw representations of arrays to show under-
EEMI"RH

:;'., {;

3Ix2=6

2x5=10

Jeoi

X U0l



Objective & Concrete Pictorial Abstract
Strategy
Doubling Model doubling using dienes and PV | Draw pictures and representations to Partition a number and then double

counters.

/

mE o
Lillall=

N

BEE pEpo
0 gee

40+ 12=52

show how to double numbers

each part before recombining it back
together.

16
/7 \
10 b
I ¥ xd

20 + 12 =32

Counting in multi-
plesof2, 3, 4,5, 10
from 0

(repeated addition)

Count the groups as children are skip
counting, children may use their fin-
gers as they are skip counting. Use bar
models.

5+5+5+5+5+5+5+5=40

o

TR ‘III

Mumber lines, counting sticks and bar
models should be used to show repre-
sentation of counting in multiples.

1T 17 il Wil
|'|l',l_: L -L,'f; |

I.'I ]"'I
|-.,:_'.r Y L}
Bt L i L
N %

W

W |,_.l"'-\..'
Sy Y = b

Count in multiples of a number aloud.

Write sequences with multiples of
numbers.

0,2,4,6, 8, 10
0,3,6,9,12, 15
0,5, 10, 15, 20, 25, 30

4 x 3 =

X uonesljdniny S



Objective & Concrete Pictorial Abstract
Strategy Y
Multiplication is Create arrays using counters and cu- | Use representations of arrays to show different |99 = 3 » 9
commutative bes and calculations and explore commutativity.
. Use an amay to wite
multiplication sentences and
reinforce repeated addiban.
[
Q0000 *
00000 I N
Pupils should understand that an array can O0000
represent different equations and that, as ( |
miultiplication is commiutative, the order of 2+o+0=13
the multiplietion does not affect the answer. i
3+3+3+3+3=15 e
_ : 53 =15 I
. 3x5=15 n
Using the Inverse 2x4=8 m
This should be 4xi =8
taught alongside Bx2=4 *
division, so pupils Bz-4=2 ek
learn how they |:| ” |:| - |:| BE=2x4 °
wark alongside Bedx2
each other. |:| % D = D
O-g0-g =
1=-0=01 e
Show all 8 related fact family sentences. x




Objective & Concrete Pictorial Abstract
Strategy
Grid method Show the links with arrays to first intro- children can represent their work with place Start with multiplying by one digit num-

fhra tha orid mathed
4 rows

wl [T 1 2 |
__I—l—
k = +{IEIRL
“l ¢ @88 £ rows
] of 3

Mowve onto base ten to move towards a

more compact method.

% T I [}
Move on to place value counters to show

how we are finding groups of a number. We
are multiplying by 4 5o we nesd 4 rows

4 rows of 13

oooo
=l ===

value counters in a way that they understand.

They can draw the counters using colours to
show different amouwnts or just use the circlesin
the different columns to show their thinking as
shiown below.

Bar model are used to explore missing numbers

E @ . 1 Calialivksid
| 45 136
Fill each row with 126
@ 5
4w 126

Add up each column, starting with the ones
making any exchanges nesded
@ @ [ |

Then you have your answer.

4% =20

bers and showing the clear addition
alongside the grid.
x 30 5

7 210 35

210 + 35 = 245

Mowving forward, multiply by a 2 digit number
showing the different rows within the grid
method.

10 8
10 100 a0
3 30 24

X uonealdnny =5



Objective & Strategy Concrete Pictorial Abstract

Grid method recap Children can represent their work with place
from year 3 for 2 'Useplil-:l&'ﬁluecﬂuntu'stuslmlmwwe value counters in a way that they understand. start with multiplying by one digit num-
digits x 1 digit arelin:lng groups of a number. We are mul- They can draw the counters using colours to benand shuunr.gtheclear additicn
tiplying by 4 50 we nead 4 rows how diff amounts or just use the cirdes in alongside the grid.
® @ ® | s |the different columns to show their thinking as

Awiae shown below. X 30 5
: - — — 4 7 210 35

Maowve to multiplying

3 digit numbers by "=
1digit. (year dex- |7 oo row w138 210 + 35 = 215
pectation)
|
185
Column multiplication | Children can continue to be supported by 327
place value counters at the stage of multipli- x [ 300 20 H -
cation. This initially done where there is no 4 117200 | 8D 58 x 4
regrouping. 321x 2=542
The grid method my be used to show how this 28
relates to a formal written method. 20

‘ Bar modelling and number lines can support *

learners when solving problems with multiplica- -—-—-—-—LI-—
The comesponding long multiplication is mod- | tion alongside the formal written methods. ] 3 D' 8
elled alongside LI 3

X uonesijdniniy <




Objective & Concrete Pictorial Abstract
Strategy
Column Multiplication for
3 and & digits « 1 digt. o 300 120 |7 - 327
It 15 im- 1200 | 860 28 x A
portant at
22| this stage
J e that they 28
always 20
I == | multiply
_____ the ones 1200
0| st
| . 1308

children can continue to be supported by
place value counters at the stage of multpli-
cation. This initially done where there is no

327

This will lead to

regrouping. 321x2 =642 X 3 compact
| 3 D. meethod.
L
Column multiplication | Manipulatives may still be used with the cor- 18 %3 on the
responding long multiplication modelled 1| & e
ongside row
= ) = | 1] 3
| a ’{ |E x 3 =24, carry-
= ing the 2 for 20,
1|8 |0 then 1 x 3)
2)13|4 1E x 10 on the
. 2nd row. Show
miultiplying
| 23 a0y
| | & putting
—_— zero in
(1234 x &)
oL units first

Continue to use bar modelling to support prob-

lem salving

| Z l_.|=E O (1234 x10)

19,744

C.J"l

Jedljanny

X U0l



Objective &

Strategy

Concrete

Pictorial

Abstract

hMulbplying decimals
up to 2 decimal plac-
es by a single digit.

remind children that the single digit belongs
in the units column. Line up the decimal
points in the gquestion and the answer.

X uonesljdnIny =



Objective &

Strategy

Concrete

Pictorial

Abstract

Division as sharing

Use Gordon ITPs for
modelling

1 have 10 cubes, can you share them equally in
2 groups?

Children use pictures or shapes to share quanti-

"33 3
23 83

8 Snareu peuwesn 2 1

12 shared between 3 is 4

12 shared between 3 is
4

0=

[]

[]

[]

LOISIAL

[]
]
[]

22



Objective &

Strategy

Concrete

Pictorial

Abstract

Civision as sharing

10

| hawe 10 cubes, can you share them equally in
2 groups?

children use pictures or shapes to share guanti-

33 33
5% $3

children use bar modelling to show and support
understanding.

12+4=3

12:3=4

Civision as grouping

Divide quantities into equal groups.

Use cubes, counters, objects or place value
counters to aid understanding.

10

LR L !-l‘"l BEEEE |.! aE EREEE | L L L] | LU R L]
- ' 1] ¥ ] = L

Use numkber lines for grouping
=% +3 +1 +]

TAVAVAVA

E123AEBTED 1811142

12:3=4

Think of wree wan g g wioee, agan oo the num-
ber of groups you are dividing by and work out
hiow many wiould be within each grouwp.

~
g

Divide 28 into 7 groups. How many are in

each group?

@-<

[]

[]

[]

LOISIML

[]
]
[]

23



Ohjective &

Strategy

Concrete

Pictorial

Abstract

Crivision as grouping

Use cubes, counters, objects or place value
counters to aid understanding.

24 divided into groups of 6 =4

86 +3 =32

e Y0 %o
e Y@ %o
o® o® &

Continue to use bar modelling to aid solving
division problems.

20
e
o= 7=20

How many groups of 6 in
247

24+-6=4

Drivision with arrays

Link division to multiplication by creating an
array and thinking about the number sentenc-
es that can be created.

EE15+3=5 5x3=15

15=5=3 3x5=15

Draw an array and use lines to split the array
into groups to make multiplication and division
SEMTENCas

QOO
GOa
QO

QOG
@00

Find the inverse of multiplication and division
sentences by creating eight linking number
sentences.

Tud=28
4xT=28
2E=7=4
2B=4=7
2B=7x4
2B=4x7
4=28=7

T=28=4

@-<

[]

[]

[]

LOISIAL

[]
]
[]

24



Ohjective &

Strategy

Concrete

Pictorial

Abstract

Civision with remain-

ders.

14:3=

Divide objects between groups and
see how much is left owver

-
b,

R
B

Jumip forward in equal jumps on a numiber line
then see how many more you need to jump to
find a remainder.

o

Draw dots and group them to divide an amownt
and clearly show a remainder.

OOOGL

Use bar models to show division with remain-

ders.

Example without rermainder

40+ 5

fzk “How many 53 in 407

+5+5+5+5+5+5+

0 5 10 15 20 25 30 35 40

Example with remaindar;

B =6

+G6464+6+6+6+

b6 12 18 24 30 35 34

Complete written divisions and show the re-
mainder using r.

29 + 8 = 3 REMAINDER 5
T T T

dividorsd  divisor gucitian reinairlen

= § fives

= b sixes with a rermnainder of 2

Fo Iarg-Er nuembers when il becormes melhicient 1o count 1n 5||'|gle mulliples, hlggEr
jumps can be recorded usng known facts

@-<

[]

[]

[]

LOISIAL

[]
]
[]

25



Objective & Concrete Pictorial Abstract
Strategy
Divide at least 3 digit |96=3 Tens Units Students can continue to use drawn diagrams Begin with divisions that divide egually with
numbers by 1 digit. with dots or circles to help them divide numbers | M0 remainder.
2 2 into equal groups. 2 1 B
N EEe ee 3
ivision
3 QEe @0
eEe 0O 4,8 7 2

Use place value counters to divide using the
bus stop method alongside

e eoe

|
R
HEE v 24

42 = 3=

start with the biggest place value, we are
sharing 40 into three groups. We @n put 1

ten in each group and we have 1 ten left over.

© ee

=
()
O]

we exchange this ten for ten ones and then

share the ones equally among the groups.

(O]

we look how much in 1 group so the answer
iz 14,

Encourage them to move towards counting in
multiples to divide more efficiently.

Mowve onto divisions with a remainder.

8 6 r 2
3
5/4 3 2

Finzlly mowve into decimal places to divide the
total accurately.

-

Ul

[]

[]

[]

LOISIAL

[]
]
[]

26



Long Division

Step 1—a remainder in the ones

hto
041RA

4) 165

4 does not go into 1 (hundred). So combine the 1 hundred with the G tens (160).

4 goes into 16 four imes

4 goes into 5 once, leaving a remainder of 1.

thhto

0400RT7
8)3207

g does not go into 3 of the thousands. 5o combine the 3 thousands with the 2 hundreds (3 200).

g goes into 32 four times (3,200 + 8 = 400)
&8 goes into 0 zero times (tens).
8 goes into 7 zero times, and leaves a remainder of 7.

@-<

[]

[]

[]

LOISIAL

[]
]
[]

27



Long Division

Step 1 continued...

hto

061

4) 247
==
3
Vihen dividing the ones, 4 goes into 7 ong time. Multiply 1 = 4 = 4, write that four under the 7, and subract. This finds
us the remainder of 3.

Check: 4 = 61+ 3 = 247

th h t o

0402
4) 16089
-8

1

VWhen dividing the ones, 4 goes into 9 two times. Multiply 2 x 4 = 8, write that eight under the 9, and subract. This
finds us the remainder of 1

Check: 4 x 402 + 1=1,609
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Long Division

Step 2—a remainder in the tens

Two goes into 5 two times, or 5 tens

= 2 =2whole tens — but there is a
remainderl

To find it, multiply 2 = 2 =4, write that
4 under the five, and subtract to find
the remainder of 1 ten.

1. Divide. 2. Multiply & subtract. 3. Drop down the next digit.
i o i ao I o
2 P 29
2)58 2]88 2)58
-4 -4 |
1 18

MNext, drop down the 8 of the ones
next to the leftover 1 ten. You
combine the remainder ten with 5
ones and get 15

Divide 2 into 18 Place 9 into the
quotient.

Mulbiply 9 = 2 = 13, wnie that 18
under the 18 and subtract.

1. Divide. 2. Multiply & subtract. 3. Drop down the next digit.
I o i o I o
28 29 29
2158 2 J" 58 2)E 8

-4 -4 -4

18 18 18
-18 -18
0 0

The division is over since there are
no more digits in the dividend. The

fquotient is 29,

03
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Long Division

Step 2—a remainder in any of the place values

1. Divide, 2. Multiply & subiract 4 Drog down the next digi.
htao hto hte
1 1 18
2NRTH 21T 21218
| -2
0 OF

T QoeB Inte 2 one Ame, of 2
fundreds = 2 = 1 hundred

ultiply 1 = 2= I, writs that 2 under
the two, end subtract o find the
remainder of zern

Mext, drop down the 7 of the teng
next fo the zem

Divide. Multiply & subtract. Drop down the next digit.

hia hto hto
13 13 13

2278 21278 2)278

-2 -2 -2

a7 a7 o7
= 6 - 6

1 18

Divide 2 inte 7. Flace 2 inio the
quobant.

Muliply 2 = 2 =&, Wwrits that & undar
the T. and subirect 1o find tha
remander of 1 =n

Mext, drop down the & of the ones
mext 1o Tha 1 Isftowar ten.

1. Divide. 2a Multiply & subiract 3 Dwop down the next digit.
hta hto hto
139 139 133
21278 2278 2027148
s ' -d

a7 07 0T

18 18 18

18 -18

0 0

Divide 2 inte 13. Plece 2 into the
oucent

Multiply & = 2 = 1% wmie that 18
under the 13, and subtrack o find the
remander of Zero.

There @ra ne more digie 1o drop
dowm. The quotient 8 138
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